N & o & AF & H Al A
20179 & S0la LB E2EXAA
SN B
M FQAM AN EP(UUDDHT/AUHET)
el ARES (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEH A 4,756,425 4,100,916 655,509
= 14,572
< 29,516
Al 4,712,337
TN MEXN 2 (Ut @A /LptEA) 1,899,556 1,466,556 433,000
ANEBEE 1,899,556 1,466,556 433,000
ANEEE 1,805,666 1,393,886 411,780
201 Let2d] 1,533,406 1,232,126 301,280
01 At 22l I 1,459,360 1,164,960 294,400
OFUHE =8 17,000& = 1209 * 128 24,480
OAlEg2t 500,000& * 603l 30,000
OANE JI5 22| 27,280
—&0a3a ¢ 100,000& * 404 4,000
— HOVEIOI = (6012]) ¢ 25,0003 = 80H 2,000
—0VD ¥ CD 7 ¢ 2,500& = 4004 1,000
— AL& Qg2 850,000& * 12& 10,200
—Z28AE UXNEsY d&
3,000& = 128 * 108 » 288 10,080
OZ22& X 7+ 11,800
— XAXHF2A 115 6,000&8 = 1508 » 12& 10,800
— JIEt 1,000,000 * 13| 1,000
Og= AIEsEX &2t 140,000,000& * 14 140,000
OF2 NEsE 21a(Tv,2t)
350,000,000& * 14! 350,000
OFQAH L AFEL(ME,EX )
400,000,000& * 14l 400,000
O=2 Ads:e ¢H a2 W
10,000,000& * 2 20,000
OJIe S8 (LSE) Mz &5
50,000,000& * 14l 50,000
OYFANE AHUAS SMRA 2HX HE
50,000,000& * 14l 50,000
OJIEsd ME(MR) 150,000,000& * 14 150,000
OUSZA G=Al OI0IX Z22(chHE)
60,000,000& = 14 60,000
Ot e g8 30,000,000& * 14 30,000
OZEAMOE &1 50,000,000& = 14 50,000
Odlel 228 2E = M=%
50,000,000& = 14 50,000
OB65L = (R MY AR AJH)
3,000,000& = 43| 12,000
O01g2 2Ll & AZSHI} HME
100,000& = 2H = 12& 2,400
OSEHEI YA/ B4 25
70,000& = 43H « 53] 1,400
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SN BREMA
MY ZQAM MAN SR (YUDDHE/UBHE)
ol AFER EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 74,046 67,166 6,880
OAJEOAH MHEE
121,000 = 35JH0HX *» 123 50,820
ONLE(Z&H A EHl) XUl 400,000& » 63l 2,400
O8z E22LIH RALE=H|
450,000& = 12& 5,400
Og&s&d |l 11,897
— SEJ17I 140,000 * 2CH 280
— Jthilct 50,0002 * 504 250
—LYEANE E 148,000& * 6CH 888
—HICI2t0l2 (&)
25,240,000 = 3/100 * 2CH 1,515
—HICI29t02H(CH)
130,000,000 = 3/100 * 2CH 7,800
— CIXE3tHet  2,990,000& * 3/100 * 2CH 180
— 398 Sl 5,800,000& * 3/100 174
—HULEZME 27,000,000& = 3/100 810
OAN&EH B2 2,000
—Jtiict 282 1,000,000 = 14! 1,000
—CE&H BER 1,000,000 * 14 1,000
OANEEE YSAAE SXE2H|
50,933,350 = 3/100 1,529
203 YR =&l 9,000 10,000 A 1,000
03 AIHZ=XH R =AH| 9,000 10,000 A1,000
OFQAM 282 RFLH|
9,000,000& = 14 9,000
301 gt d= 7,560 7,560 0
09 EAEHIE &S 7,560 7,560 0
OE2UA S EE2ESHI
0,000& * 6F * 4 » 33 6,480
OEE#EIIAAAS HA O]
90,0003 = 4% = 32 1,080
307 21240 78,200 97,200 ~19,000
02 IZtE S AIHE L 57,200 77,200 220,000
OZFFNLAEAHL S KB (B8 FH)
50,000,000& = 14 50,000
Ost=2XsEHY FAXNS ALY EX 7,200
—dINR+=S SHUS NFud
3,000,000& = 141 = 80/100 2,400
—dAE QUFAQYUNE MY
2,000,000& = 14! = 80/100 1,600
—HHUE=0ISME 2E A
2,000,000& = 141 = 80/100 1,600
— DM HEEE AS L NI AY
2,000,000& = 14! = 80/100 1,600
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SN BREMA
HE: FQAM AN 22 (UNDIYE/AUHT)
Sl NFER (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 BIAHMNHE2IHIEL 21,000 20,000 1,000
OS=2NNREHY FFAX 2HU(2Exg 3
o) 21,000,000& * 14 21,000
405 XHobF S HI 177,500 47,000 130,500
01 AL EZFH S 177,500 47,000 130,500
OHIti2 Jtoil 2t (ENG) 98,000,000& * 14l 98,000
O=3IJ|(VCR) 35,000,000& * 14 35,000
OHIti2 Jtoller & =2HCH 15,000,000& * 14! 15,000
oHIti2 Itk (A 9,500,000& = 14 9,500
Oolsg ®&I| 4,000,000& = 14l 4,000
OCIXI'E 3ot (DSLR) 8,000,0008 * 14| 8,000
OCIXIg toer dx(2ax)
2,000,000& = 14| 2,000
OZa RH &S==410] 6,000,000& = 14l 6,000
=OICIOE 288 ANEEE 93,890 72,670 21,220
201 £B-2d| 85,410 63,650 21,760
01 At 22l 85,410 63,650 21,760
OSNS E8 28 = g L M=
35,000,000& * 14 35,000
OSNS s8¢ 2102 Xs
30,0003 = 621 = 208 ~ 123 43,200
OSNS e8¢ 28 49 M
60,0003 = 2004 1,200
OSNS EEHIE 2 & WA
20,0003 = 204 400
OSNS 2 £¢ Il=Hl XI& 50,000& * 20%¥ 1,000
OSNS Z28l= 224 3,050
— 28R AH 1,000& * 2,0000H 2,000
— AR ¢ 70,000& * 5% = 33 1,050
OSNS & AIEEE us 2AE
130,000& * 2A12F * 63l 1,560
301 et A3z 8,480 9,020 A 540
09 &AL HIZ &S 3,480 4,020 A 540
OSNS AIEEE &2 2te 3
6,000& * 209 = 143 1,680
OSNS DIt R3S
90,0003 * 1 * 13| * 20¥ 1,800
1MIIEESS 5,000 5,000 0
ONSZEI= Z2& Al&3  5,000,000& * 14 5,000
HESIAI (YIS Y /YA ) 2,284,442 2,175,791 108,651
= 14,572
< 29,516
Al 2,240,354




SN BREMA
H: FESAMY (LSS /YY)
Sl ¥l IR =X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HY ZEs F&H 1,859,170 1,827,707 31,463
= 11,212
Al 1,847,958
HEMA 22| 7K 985,500 1,008,282 N22,782
201 Let24dH] 849,856 869,988 A 20,132
01 At 22/l 43,500 43,500 0
OttoladA o=z 4a 1)
30,000,000& * 14 30,000
OHFZFEANAH SERANE It &=
2,000,000& = 14 2,000
OXAEH LdXtZ 200,000& = 50CH 10,000
O&4HEHl =&l 30,0003 = 50CH 1,500
02 =24l 806,356 826,488 220,132
OQHY HE3H AEE 231,000
— 23 (2L :5M) 1,500,000 = 12& 18,000
—ANEEAHZ(2A2L:2M1)
1,100,000& * 12& 13,200
—AEI B, ASA, SHS(MSPPY)
450,000 = 3734 « 12& 199,800
Od&d A2 = 15,400
- DI TRESL AHUAMSE
30,000& = 1314 = 128 360
— U= MRY AHILAES
30,000& = 1314 = 128 360
—0lXs E4E 09 E QHUMER
30,000& = 1314 = 128 360
—AZA CHAEEME AHUARE
30,000& = 1314 * 128 360
— AN SEUSE AHYUAEES
30,000& = 1314 * 128 360
— ALK HEA JAHUWASES
30,000& = 13l& * 128 = 204 720
— SHIE A QHYAIEZ
30,000& = 1314 = 128 360
— 24A Ot A CIHUAERZ
30,000& = 1314 = 128 360
— SOt 22t AHYAERZ
30,0003 = 13l& * 128 * 204 720
—ANEEZAZ S AHAAES
30,0003 = 1314 * 128 360
— 220 E35tfA AHULAERZ
30,000& = 1314 * 128 360
—OtXIs XIS E AEHAANER
30,0003 = 1314 * 128 360
— B A0I3A UIIa AHIAIEZ
30,000& = 1314 * 128 360




2N
X ZH -
L= B

el

= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
—ANZ2SE S3A0M0l AHY AIEZ
2,000,000& = 13/ & = 53] 10,000
OXNGEZBHH(FUHENEAL) sldAER
100,000& = 128 » 170 20,400
OodgZ¥EZLel0l SMS AE = (UMS)
253 * 40,0004 « 123 12,000
OAOIHHAIRL SNS &2
253 * 100,000 * 43| 10,000
O2Helsa 2 (LAN) MEX
500,000& * 50 4 2,500
OdstE AIBZ 200,000& = 12& 2,400
OANEZHISXHI (AAE SE§ERANES) 512,656
—GtERA N |24 241,340
- 2-let(gR2el ) Al AE
164,090,900& * 7/100 * 1.1 12,635
- HAEMAIAE
192, 145,460& * 7/100 * 1.1 14,796
-EXEE, TAHEEE SE MG
288,159,000 = 7/100 * 1.1 22,189
-EXZel EEAAE(KLIS) APAH
109,273,000& * 7/100 * 1.1 8,415
- HEHBANAE SE OLASIAIAE(2016.
5&8) 32,909,090& * 7/100 = 7/12 = 1.1 1,479
- 2HOIXNS S& A
188,696,000& * 7/100 * 1.1 14,530
-HYEE S A2
231,507,000& = 7/100 * 1.1 17,827
CHAUTE AT SF2AIAE(OR)
239,059,000 = 7/100 * 1.1 18,408
RY StECIAT SHEHI
173,162,000& * 7/100 * 1.1 13,334
HEHZAAEY Sg HHALE
394,875,000& * 7/100 * 1.1 30,406
AELd S HGEALE
57,232,700% = 7/100 * 1.1 4,407
AKX S 03 HHEHH
136,000,000& * 7/100 * 1.1 10,472
- B3I AHE L0l Al AE(UNS)
28,300,000 = 7/100 = 1.1 2,180
otE AMAHE
16,400,000 = 7/100 * 1.1 1,263
- HAH MB 5,500,000& = 7/100 * 1.1 424
- MBS AT EAME A A
28,181,820 * 7/100 * 1.1 2,171
-UHESRT &I
539,084,540& * 7/100 * 1.1 41,510
- AEHEEEY U
30,250,920 * 7/100 * 1.1 2,330




2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
-HAFFEEY HEFHI (L4, 2016.38 W Hl)
87,309,090& * 7/100 = 9/12 = 1.1 5,043
- SHIOIX 20t DNS S AIAE
44,318,180% = 7/100 = 1.1 3,413
- g28&01 49,018,180& * 7/100 * 1.1 3,775
828 571(2015.58 FIt7Y)
19,787,270& = 7/100 * 7/12 = 1.1 889
PEM dAZ=EX(UPS)
73,267,270% = 7/100 * 1.1 5,642
HEILA TUs48HD]
17,348,0009 = 7/100 = 1.1 1,336
- CCTV AIAEY (2016.3% LA)
42,690,910& * 7/100 » 9/12 » 1.1 2,466
—AZEQON RAZ=H 47,113
- 2-Liet (g 2el )AL AE
155,454,530& = 10/100 * 1.1 17,100
- EXIZCIAIAE DBMS
37,750,000& * 10/100 = 1.1 4,153
- HHFHEANAEH SE Otas £RE(2016
.54) 2,837
44,203,630 * 10/100 * 7/12 = 1.1
- SHIOIXl DBMS
8,727,000& = 10/100 * 1.1 960
SHOoIX sg4 24
20,000,000% = 10/100 * 1.1 2,200
A E 2| 0IAIAE(UMS)
46,500,000& = 10/100 * 1.1 5,115
AT A AE
29,000,000& = 10/100 * 1.1 3,190
-OIAHM Z2EH
18,363,630& = 10/100 * 1.1 2,020
-UHESRIZ 1P 22l AlAE
44,700,450% = 10/100 * 1.1 4,918
SR IOAAE
14,000,000 = 10/100 * 1.1 1,540
Ngos SEHEAAH
2,800,000& * 1.1 3,080
— EotEH KX 2= 219,703
SEE O T AIAE (H/W)
146,973,000& = 7/100 » 1.1 11,317
SEE O AIAE (S/W)
89,227,000& * 8/100 * 1.1 7,852
- SE 22 Al A& (DBMS)
50,000,000& = 10/100 * 1.1 5,500
- MOITHEHH S A AE
234,250,000& = 10/100 * 1.1 25,768
HHHPY Yo
119,800,000& * 10/100 * 1.1 13,178




2N

RPN
HE: HPSAY(LHNTIYT /YY)
Sl HE 2 =2 CERED
) _ o HEE
SA-3H-S(3AH) - MRAS - BES Ol &F o4 ol & o Hns2
-/

-HEIFEY Fe 'E‘JII/\I*E“(IPS)

-HEFEY LSSEHI(2E VPN)
73,

8,600,000 = 10/100 *

183,000 * 8/100 *

-HHAHEY dSSEH(SHE VPN)

-HHMEY 2S3AEI(2016.38 DLJ'HI)
9

60,636,360% = 8/100 *

79,454,540 * 8/100 » 9/12 *

-UHESRT HioledAs THEHAIAE

48,000,000& = 10/100 * 1.

-2 HASXAIAE(IDS)

15,700,000& * 10/100 = 1.

21 X| Al A B (1PS)
35,775,0008 * 10/100 * 1.
YRS AIAE

38,800,000& = 10/100 * 1.

to
!
02
1]

to
gl
02

-8 gt 67,363,7209 x 10/100 * 1.

- DDoS =& X+HEHAIAE

97,500,000 * 10/100 = 1.

- CIOIEIHI Ol A2 QA AEY

- HEANAE H2IIS22lAAE(2016. 3
2) 39,727,270& * 10/100 * 9/12 * 1.1

.I‘I‘:I}\IAEH _U_H)\O_l OEP‘;EJ )\lAEﬂ(Z

122,045,000& = 10/100 * 1.

16.38)
32,272,720& * 10/100 » 9/12 =

-UERZ F2MAAAE(NAC)

99,300,000& = 10/100

*

- BRI 0H A (USB) 2 OHAIAE

55,800,000& = 10/100

*

- WX, XH&k2te] AlA e (PMS)

46,400,000& = 10/100

*

-SHATERON XSHAIAE

39,000,000& = 10/100

*

-0B 53t £2H

126,000,000& * 8/100

*

89,500,000& = 10/100

*

8,918,182& = 10/100 * 1.

(o)}

-HY R E(A0IE) if'&l\lﬁ%‘

42,909,090 * 10/100 = 1.

SHUERT BotAlAEH 1=
57,272,720 + 8/100 *

- EHOIK BAADE HUAF ZHAIAH

58,227,270% = 8/100 *

- ZHHE SHOIX II2E ZBetAIAHE

24,000,000& = 8/100 *

1.1

A

A

A

1.1

1.1

1.1

1.1

0

4,246

6,441

5,336

5,244

5,280

1,727

3,936

4,268
7,411

10,725

13,425

3,278

2,663

10,923

6,138

5,104

4,290

11,088

9,845

7,582

4,720

5,040

5,124

2,112




SN B
HM: HESAY (L2 DA /AL H)
Sl ¥E HEE =X CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
- ZEHOIX MOEERE XAHAAE
26,281,810 = 13/100 = 1.1 3,759
- EHOIX & X ¥ XEHAIAEH
32,227,270 % 8/100 » 1.1 2,836
- EHOIK EABIA 2LIEHE AlAE
40,300,000& = 8/100 = 1.1 3,547
— MAEY g2mzOd A% 2 201
30,0008 = 15004 4,500
308 AHXIEHSOIA 135,644 138,294 AN 2,650
10 B 2SO CHSHE A X AN Y 135,644 138,294 N 2,650
Oe2-LietAl A X 22l
16,063,000& = 14 16,063
OXXIEHM 20|18 ®AEH A2
87,056,000 * 14! 87,056
OXNEHAE2CIAAE (-5 X)) SA 22
21,167,000 * 14! 21,167
OANZF MalSR2AAE A2
5,198,000& = 1A 5,198
OXNLHEZEZHEAAE HEHAQAD 24
6,160,000& = 1A 6,160
H 23 807,400 748,550 58,850
QB2 A Y| 144,100 132,400 11,700
A2 22| H] 144,100 132,400 11,700
OgeREATENH 2L 144,100
—st2 72,000 *~ 1¥ * 450user 32,400
— NS IO A 250,000€ = 1Y = 300user 75,000
— L EN 600,000€ = 1Y * 30user 18,000
—QEIHE 500,000& = 1Y * 20user 10,000
—QLEIHE ABEBAIZE A
300,000& = 1Y * 29user 8,700
o 2 k| 90,000 0 90,000
& AR EHH| 90,000 0 90,000
OsH™at AFJEAAE JsIHA
40,000,000 * 14! 40,000
OIMeIAdE B5I|8 2A2AAE 2=
50,000,000& * 14! 50,000
AHAESE S| 573,300 584,150 A 10,850
AL 2 FF S| 573,300 584,150 A 10,850
OLs AHE EAUXSAIAE (2ee) WH
35,000,000& = 1CH 35,000
OLs olfuigt HQIGET|AIAE(IPS) WA
50,000,000& * 14! 50,000
OAYA 5 HEAMBASSEH|(VPN) WA
7,000,000& = 7CH 49,000




2N
X ZH -
L= B

el

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
O28Hs &5 UWERZ 24X WA
2,000,000& = 28CH 56,000
OYRS AMFHH P& 336,500
—oA3s 1,000,000& * 250CH 250,000
- 2LUH 450,000& = 150CH 67,500
-—LE=S 2,000,000& = 20H 4,000
— OZ2E(5E9) 500,000& = 30CH 15,000
OCCTV 2tHl ZLIHE = MdaEd 2 46,800
—da3as 1,500,000& * 24CH 36,000
— 2LH 450,000 2404 10,800
NAEEs s 23,010 23,010 0
201 Let24E] 21,010 21,010 0
01 At 22l 21,010 21,010 0
OZ22& Z=2XNAel el 4,800
—ZH =H 2 HE 50,000& 60 3,000
—CBT AIAHE AIEZ 500,000& = 14 500
— W =Hl 100,000& * 8Al2t 800
— el & ey 250,000& = 29H 500
OHAZES WEWM
10,0003 = 23& = 157| 3,450
OFNAFD3 IY AR
50,000& = 12Al12F = 15D| 9,000
OFESHNST ARESH
5,000& = 23Y » 12& 1,380
OHESWEE A2 4| 2,380
—Zegy 22l
100,000& * 1CH = 23| * 50/100 100
—ZEH Ed 200,000& = 23] = 1CH 400
—ZFH =2
100,000 + 23CH = 33| * 20/100 1,380
—YEZRE =g 500,000& = 1CH 500
Za3 2,000 2,000 0
= 2,000 2,000 0
OZ2® XA 3l a3
2,000,000& = 14 2,000
XSSOt =8l WM X & 30,151 47,865 AT, 714
= 8,194
Al 21,957
B2 HH| 30,151 47,865 A17,714
= 8,194
Al 21,957
01 At 22l 30,151 47,865 AT, 714
OMs 23JI1gt == &H WM ¥ F280 2
AL 30, 150,440& * 14 30,151




2A: EEAAA
M. HESIAIY (L2 2N /BN )
ool WN FPE =X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,194
Al 21,957
(VXX HESSZHUHEAHR=E 13,109 0 13,109
2 3.018
Al 10,091
201 Bt 13,109 0 13,109
2 3.018
Al 10,091
01 AP 22| H| 13,109 0 13,109
OANZFRMHERAIAE SAIE
13,108,230 = 14 13,109
2 3.018
Al 10,091
NEEE3 =& 425,272 348,084 77,188
2 3,360
== 29,516
Al 392,396
SHOIX &9 269,482 183,832 85,650
201 et | 46,332 63,832 A 17,500
02 E32%H| 46,332 41,832 4,500
OZHOIX 2225 MUHIA AIESE
60,0008 = 12& 720
OZHOIX Jls =t 2,500,000& = 23| 5,000
OAl EHOIXI SXIE4(S/W)
18,000,000& * 10/100 * 1.1 12,980
OR2HtY &ANHA EHOIAN SN2
118,590,670 = 10/100 * 1.1 = 1/2 6,523
OQHUWAIZ2 EHOIX X2
118,590,670 = 10/100 = 1.1 = 1/2 6,523
Oelgul ool D2t & eyl 4,586
— Y920l 30,000& = 8124 2,430
—st2Z0 ¢l 66,0008 * 2621 1,716
— CMHQo SEH| 220,000 = 224 440
Od 24 SZOS0H3 WAl
5,000,000& = 1A 5,000
OHANOE AADE FUE PBOHXIC
5,000,000& = 1A 5,000
207 A F 0 | 94,000 0 94,000
02 & A Y| 94,000 0 94,000
OYAOIE S HE (M) =&
22,000,000& * 204 44,000
O3 EHOIX Jlsid(st2d )
50,000,000& * 14! 50,000
405 XHA&HF S HI 129,150 120,000 9,150
01 AL 2 FF S| 129, 150 120,000 9,150




AR
PSS

X{ XH -
S =

@4 XNEE & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHOIXI2E SetREAMNAH D& 7=
90,000,000& * 14l 90,000
OZEZsiots MaEH ¢ 14,500
—oA3s 1,000,000 = 500 » 2004 10,000
- 2LUH 450,000 = 504 = 2004 4,500
OFUZE0EANE HoEH 2 24,650
—da2as 1,000,000& * 17CH 17,000
— 2LUH 450,000 = 170CH 7,650
ANEE3 A =& 20,350 21,160 A810
201 Let2d] 20,350 20,350 0
01 At 22l 20,350 20,350 0
OAMBIZES we Wi
10,000 = 233 87| 1,840
OAMEIEEs s 2AE
50,000 = 30AI2t = 87| 12,000
OFUFE0EAIE AARESHI
5,000& * 17002 * 128 1,020
OFUZE0EANE A2 =4t 5,490
— ZEH =2l 100,000& = 17CH = 50/100 850
— T2l EYH 200,000& = 12l = 1704 3,400
—3dFH =2a 100,000& * 62CH * 20/100 1,240
(Y E0IE Z208 22X =4 33,480 33,432 48
= 3,360
< 7,056
Al 23,064
307 glz2tol & 33,480 33,432 48
= 3,360
= 7,056
Al 23,064
02 QIZtE M AHE X 33,480 33,432 48
O&Es0tE T2 )d2AeN 29 33,480
— o= 16,800,000& * 29 * 80/100 26,880
= 3,360
< 7,056
Al 16,464
—40f 282 & EAZ  6,600,000& * 14 6,600
(E)HSOISAA NE 70,740 70,740 0
< 21,060
Al 49,680
101 @14l 70,200 70,200 0
< 21,060
Al 49,140
04 JI12ZtHZ22HEE = 70,200 70,200 0
OXAZEsZ AL BHXIAHY 70,200




2N
X ZH -
L= B

el

> 0% 0ofo
12 M H
0t [
M=
for 1@ N>
10

Are

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—olg9l 52,000 * 6H = 158 49,296
=} 21,060
Al 28,236
— F=EXE 52,000 *~ 6H » 32 9,984
— RS EIISE 52,000 * 6H » 7Y 2,184
— s, 2tAH| 2,5008 » 6Y * 158Y 2,370
— 40 BE2 6,366,000€ = 1Al 6,366
301 et A= 540 540 0
09 HAIAHIBEAZ 540 540 0
OXNSEBS2A 9 23 WE Ol
90,000& * 6YH = 13 540
dEs0S2d9 24,220 28,920 AN4,700
201 LBt | 16,300 16,300 0
01 AP 22| H| 2,000 2,000 0
OXE30IS EBES(HHYH , 223 5) ME
1,000,000& = 1Al % 20 A 2,000
02 2224 H| 10,700 10,700 0
O&¥ES0IS EHOIXN SXEx
35,000,000 * 10/100 » 20HA = 1.1 7,700
OXES0IS EEBHEH &ALEH =4&H| 3,000
—2EH,2LIH %2
100,000 = 113 * 2004 2,200
— T2y EUY 200,000 = 23] * 2004 800
03 A2 G| 3,600 3,600 0
OXFE 350 HAE &0Hdl
800,0008 = 20 A 1,600
OXAE0IS EM/SEAM/EHHEH S EOHI
1,000,000 * 20 2,000
301 Bt A= 7,920 10,620 A2,700
09 HAIAHI EAZ 7,920 10,620 N2,700
OdEF0IE 29/ s &It
90,000& * 2 x 12 % 63 * 2 A 2,160
OdES0IS F09E ASUR
90,000 * 79 * 22 * 13| * 200 & 2,520
OXES0IS HAE &I} |
90,000& * 6Y x 3L * 13| * 20 A 3,240
(2)¥ 23089223 7,000 10,000 A 3,000
= 1,400
Al 5,600
307 212t0| & 7,000 10,000 A 3,000
o 1,400
Al 5,600
02 QIZFE AAIE E X 7,000 10,000 A 3,000




SN B
H: FESAMY (LSS /YY)
el NGFLs =8 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXTANN N (ZEHM, HdAHY S)
3,500,000& * 200 £ 7,000
< 1,400
Al 5,600
Sde (L3S /Lot H) 449,823 335,965 113,858
sl 449,823 335,965 113,858
Salatel 449,823 335,965 113,858
201 Let24d] 286,785 286,785 0
01 At 2teltl 12,500 12,500 0
OdZMstHsHE M= 1,000& = 1,500% 1,500
OSHS, M MR IXZHFN OE 0ld
& Xl 500,000& » 1004 & 5,000
OFUL S IE Fhl 1,000,000 * 40 A 4,000
Ouwe)l & 2U&Y |XNES AIMAE
2,000,000 = 14l 2,000
02 2324gHl 274,285 274,285 0
Odszel 833 10,000,000& * 12& 120,000
OINFEBSAYL M3 400,0008 128 4,800
OAUXEEZHE AIEZ
25,000& = 1703l & » 12& 51,000
Oslidste= 100,000& = 6CH » 123 7,200
OEDIJtY (AT HAE) 1,400
—d3%= 8,000& * 5004 400
—EHIIMNS He3 20,000& = 50CH 1,000
oggs 32 24,720
—ZNESUL(NE-TH)
2,000,000& = 12& 24,000
—=UlHEE3HE AIBZ2 60,000& = 12& 720
O=2E8 S3H&E38 sldAER
1,500,000 * 33l 4,500
OA&EHl Sl 49,365
— &3t wEEI 169,072,000 = 7/100 11,836
—SSHZSAHH 34,100,000& * 7/100 2,387
— &5 7,840,800& * 7/100 549
— 34 AH(S/WEEH)
3,314,897& = 7/100 233
— &3] 394,559,000 * 7/100 27,620
—SAHU 10,941,920 = 7/100 766
—VOIP &3t 50,593,950 = 7/100 3,542
—23d dFEX 34,737,350& = 7/100 2,432
O7UEz |FANE+ 5,500,000& = 14 5,500
OArEd ZALEHl WEHH| 700,000& = 404 2,800
Osda &85FH RAE>
3,000,000& = 14 3,000




SN B
HH: SNBE(AUBTHY/LBHET)
ool sl (SHol: @)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
308 XXM SO0IH 14,438 0 14,438
07 X SHH2LES =S 14,438 0 14,438
Q20173 sHEXNS ZUHFIEMY 2=
14,437,500& * 14 14,438
405 At&tF = HI 148,600 49,180 99,420
01 MM =S FH=H 148,600 49,180 99,420
OlpEsI +¢ 500,000& * 20CH 10,000
OCIDdE 3| 2¢ 40,0002 = 100CH 4,000
Olpwm &I AMe 25,000,000 = 2CH 50,000
Ouedl M2 Wi 52,600
—LPNEE 2,750,000% = 60OH 16,500
—NETEE 4,200,000& + 30K 12,600
—DTMEE 4,700,000% = 50H 23,500
OSstHZSAAY WA 32,000,0008 * 14 32,000
HY2IZH (E2HLA)(IIEH/DIE 122,604 122,604 0
Jl=23Hl 122,604 122,604 0
Jl=23dH 122,604 122,604 0
201 fEt2E | 26,124 26,124 0
01 At2 22l bl 26,124 26,124 0
OSAEXN F¢ 15,000& » 228tA « 128 3,960
OEZ20HAHI 6,000 * 641 » 22& x 12& 9,504
Ogdte2 100,000& * 128 1,200
OArE =AY 50,000& ~ 123 600
OAx7L ==&t 9,540
—SA(2E) =2l 750,000 * 10K 750
— ZBEIl el 100,000 * 5CH * 50/100 250
—SAJ EH 200,000 » 53 = 1.5CH 1,500
—DRIEIN(&Y) EY
200,000& = 5% = 50K 5,000
—DeIEIN(Zd) EY
200,000& * 53 = 104 1,000
—PC =¢cl 100,000 * 22CH = 20/100 440
— JIEt==2l bl 50,000& ~ 12& 600
OJIEt AHRESH 5,000& * 22% = 128 1,320
202 O 4 91,080 91,080 0
01 S LHOYI 91,080 91,080 0
OS2 2= 0l 91,080
—2LH0dHl 20,0008 » 2298 * 122 » 123 63,360
— 22 044l 90,0008 = 22% » 14« 27,720
203 YR =2Yl 4,200 4,200 0
04 B2 AAREAY| 4,200 4,200 0
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